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(1) Which of the following groups of rivers originate from the Himachal mountains?
[A] Beas, Ravi and Chenab

[B] Ravi, Chenab and Jhelum

[C] Sutlej, Beas and Ravi

[D] Sutlej, Ravi and Jhelum

Answer : [A]
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(2) The oldest oil refinery in India is at
[A] Digboi, Assam

[B] Haldia, near Kolkata

[C] Koyali, near Baroda

[D] Noonmati, Assam

Answer : [A]
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(3) The watershed between India and Myanmar is formed by
[A] the Naga hills

[B] the Garo hills

[C] Khasi hills

[D] the Jaintia hills

Answer : [A]
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(4) Which of the following crops is regarded as a plantation crop?
[A] Coconut

[B] Cotton

[C] Sugarcane

[D] Rice

Answer : [A]
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(5) Which country has the largest coast line?
[A] USA
[B] Australia

http://examyou.com/admin/questions/showquestionsinpdf/index 2/6



12/19/2016 examyou.com/admin/questions/showquestionsinpdf/index
[C] Canada

[D] India

Answer : [C]
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(6) Sound waves in air are
[A] transverse

[B] longitudinal

[C] electromagnetic

[D] polarised

Answer : [B]
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(7) Stars twinkle because
[A] the intensity of light emitted by them changes with time
[B] the distance of the stars from the earth changes with time

[C] the refractive index of the different layers of the earth's atmosphere changes continuously, consequently the position of the image of a start changes
with time

[D] the light from the star is scattered by the dust particles and air molecules in the earth's atmosphere

Answer : [C]
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(8) On a cold day when a room temperature is 15°C, the metallic cap of a pen becomes much colder than its plastic body, though both are at the
same temperature of 15°C, because

[A] metals have higher thermal capacity than plastics

[B] plastics have a lower density than metals

[C] metals are good conductor of heat

[D] plastics have a higher thermal conductivity than metals

Answer : [C]
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(9) Radio telescopes are better than optical telescopes because
[A] they can detect faint galaxies which no optical telescope can
[B] they can work even in cloudy conditions

[C] they can work during the day and night

[D] All of the above

Answer : [D]
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(10) An aeroplane is flying horizontally with a velocity of 600 km/h and at a height of 1960 m. When it is vertically at a point A on the ground a
bomb is released from it. The bomb strikes the ground at point B. The distance AB is

[A] 1200 m
[B] 0.33 km
[C]3.33 km
[D] 33 km

Answer : [C]
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(11) The office of the prime minister of India
[A] has a constitutional basis

[B] has a statutory basis

[C] has conventional basis

[D] None of the above

Answer : [A]
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(12) The members of Lok Sabha are

[A] directly elected by the people

[B] indirectly elected

[C] nominated

[D] partly elected and partly nominated

Answer : [A]

Explanation:

Lok Sabha is composed of representatives of the people chosen by direct election on the basis of the adult suffrage.

The maximum strength of the House envisaged by the Constitution is 552, which is made up by election of upto 530 members to represent the States, upto
20 members to represent the Union Territories and not more than two members of the Anglo-Indian Community to be nominated by the Hon'ble President,

if, in his/her opinion, that community is not adequately represented in the House. The total elective membership is distributed among the States in such a
way that the ratio between the number of seats allotted to each State and the population of the State is, so far as practicable, the same for all States.
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(13) The name of the union given in the Constitution is
[A] Hindustan or Bharatavarsha

[B] India or Hindustan

[C] India or Bharat

[D] Bharatadesh or India

Answer : [C]
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(14) The phrase 'procedure established by the law' means
[A] the judges in India cannot question the fairness or validity of a law, provided it is within the limits of the constitution
[B] judges in India can question the fairness or validity of an undue law even if it is within the limits of the constitution
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[C] judges in India can declare a law invalid simply because in their opinion the law is not due or is unjust
[D] None of the above

Answer : [A]
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(15) The minimum age required to become the prime minister of India is
[A] 25 years
[B] 30 years
[C] 40 years
[D] 35 years

Answer : [A]
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(16) The mass number of a nucleus is

[A] always less than its atomic number

[B] the sum of the number of protons and neutrons present in the nucleus
[C] always more than the atomic weight

[D] a fraction

Answer : [B]
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(17) The graphite rods in the nuclear reactor

[A] react with U to release energy

[B] produce neutrons

[C] undergo combustion which triggers the nuclear fission
[D] convert fast moving neutrons into thermal neutrons

Answer : [D]
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(18) The mineral containing both magnesium and calcium is
[A] magnesite

[B] calcite

[C] carnallite

[D] dolomite

Answer : [D]
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(19) The hottest part of the gas flame is known as

[A] luminous zone
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[B] dark zone

[C] blue zone
[D] non-luminous zone

Answer : [D]
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(20) Equal masses of oxygen, hydrogen and methane are kept under identical conditions. The ratio of the volumes of gases will be
[A]2:16:2

[B]2:16:1

[C]1:16:2

[DI1:1:1

Answer : [C]
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